

### PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

June 21, 2017

Ms. Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street Toronto, ON M4P 1E4 PIAC File # 6630-06 VIA E-Mail 6 pages

Re:

EB-2015-0100 - Rideau St. Lawrence Distribution Inc.

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

On behalf of the Vulnerable Energy Consumers Coalition (VECC) we have attached their cost claim with respect to the above-noted proceeding. We have also directed copy of same to the Applicant via email.

Thank you.

Donna Brady

Office Administrator

Cc: Rideau St. Lawrence – John Walsh – <u>jwalsh@rslu.ca</u>

## Ontario Energy Board COST CLAIM FOR HEARINGS



#### Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				Instructions		
<ul> <li>All claims n</li> <li>A separate</li> <li>Disbursemen</li> <li>However, or</li> <li>The cost claim</li> <li>A CV for ea</li> </ul>	nust be "Detail nts Bein nly one ' aim mus ch cons	it is indicated by yellow-sha in Canadian dollars. If appl of Fees and Disbursements g Claimed") is required for e 'Summary of Fees and Disbust be supported by a comple ultant/analyst must be atta provided in section 7.03 of	icable, state e Rate: Being Claimed each lawyer, a ursements" co eted Affidavit s ched unless pr	exchange rate and cour : : : : : : "Comprising a "State nalyst/consultant and evering the whole of the signed by a representa rovided to the Board a	ntry of initial currency Country: ment of Fees Being Cl articling student/para e party's cost claim sh tive of the party. s prescribed on the Co	aimed" and a "Statement of Ilegal, ould be provided. ost Award Tariff.
File# EB-	2015-	0100		Process: Rideau S	St. Lawrence 2016 F	Rates
Party:	VECC			Affiant's Na	me: Donna Brady	
HST Numbe	er:	13059 2405 RP 0001		-	HST Rate Ontario:	3.94%
	,	Full Registrant Unregistered Other		- Qu	alifying Non-Profit Tax Exempt	
				AiñideNi		
l,		Donna Brady		_, of the City/Towr	of	Ottawa
in the Prov	vince/S	State of	Ontario		, swear or affi	rm that:
2. I have exa Being Claime 3. The attach Disbursemen Ontario Ener 4. This cost of	mined a ed", "Sta ned "Sui nts Bein rgy Boar claim do	atement(s) of Fees Being Cla mmary of Fees and Disburse	support of this imed" and "\$i ements Being of ts incurred and e. work done, o	s cost claim, including to tatement(s) of Disburse Claimed", "Statement(s) d time spent directly for time spent, by a pers	the attached "Summa ements Being Claimed s) of Fees Being Claime or the purposes of the on that is an employe	ry of Fees and Disbursements I". ed" and "Statement(s) of Party's participation in the
Signature	of Affi	ant	<del>/</del>			
Sworn or a	affirm	ed before me at the Cit	y/Town of		Ottawa	,
in the Prov	vince/s	State of	Ontario	, on	(date)	21-201
Commission	oner 1	or taking Affidavits	-			

6135620007

# Ontario Energy Board COST CLAIM FOR HEARINGS



### Affidavit and Summary of Fees and Disbursements

File# EB-	2015-0100		Process:	Rideau St. Lawrence 2016 Rates				
Party:	VECC							
	Source	maiy <i>ori</i> Fee	erudata binisa	ments Being Glairned				
Legal/cons	sultant/other fees	\$	10,477.50					
Disbursem	ients	\$	<b>m</b>					
HST		\$	412.81					
<b>Total Cost</b>	Claim	\$	10,890.31					
			ayment inform	sation.				
	Make cheque payable	to: Public	Interest Advo	cacy Centre				
s	end payment to this addre	ss: <u>1204-</u> 0	1204-ONE Nicholas Street					
		Ottawa	Ottawa, ON					
		K1N 7	B7					

## Ontario Energy Board COST CLAIM FOR HEARINGS



### **Detail of Fees and Disbursements Being Claimed**

File# EB-	2015-0100		Process: Ric	deau St Lawr	ence 2016 Rates	
Party:	VECC		Service Prov	rider Name:	Bill Harper	_
	SERVICE PROVIDER TYPE Legal Counsel Articling Student/Paralegal Consultant Analyst	(check one )	Year Called to Bar	[	Completed Years Practising/Years of Relevant Experience 37 Hourly Rate: \$330	
	For Consultant/Analyst:	CV atta	ched vided within previous 2		larged ( <i>enter</i> %): 3.9%	

Statement of Fees Being Claimed									
	Hours		urly Rate		Subtotal		HST	6.32.0	Total
Pre-hearing Conference									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	_	\$	-	\$	-
Technical Conference									
Preparation		\$	330.00	\$	-	\$	_	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Interrogatories							·		
Preparation	3.0	\$	330.00	\$	990.00	Ş	39.01	\$	1,029.01
Responses		\$	330.00	\$		\$	-	\$	_
Issues Conference									
Preparation		\$	330,00	\$		\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
ADR - Settlement Conference									
Preparation	4.0	\$	330.00	\$	1,320.00	\$	52.01	\$	1,372.01
Attendance	2.0	\$	330.00	\$	660.00	\$	26.00	\$	686.00
Proposal Preparation	1.0	\$	330.00	\$	330.00	\$	13.00	\$	343.00
Argument									• •
Preparation		\$	330.00	\$	-	\$	_	\$	-
Oral Hearing	" "								
Preparation		\$	330.00	\$	-	\$	-	\$	_
Attendance		\$	330.00	\$	•	\$		\$	_
Other Conferences							,		
Preparation		\$	330.00	\$		\$	-	\$	-
Attendance		\$	330.00	\$	_	(A)	-	\$	
Case Management		\$	170.00	\$	_	\$		\$	_
TOTAL SERVICE PROVIDER FEES	alamaning alah kempungan permejahan	Entertain S.	e garage en	\$	3,300.00	\$	130.02	\$	3,430.02

# Ontario Energy Board COST CLAIM FOR HEARINGS



#### **Detail of Fees and Disbursements Being Claimed**

File# EB-	2015-0100		Process: R	ideau St. Lawi	rence 2016 Rates	:
Party:	VECC		Service Pro	vider Name:	Mark Garner	
	SERVICE PROVIDER TYPE Legal Counsel	(check one )	Year Called to Bar	ſ	Completed Practising/Years Experien 29	of Relevant
	Articling Student/Paralegal Consultant Analyst				Hourly Rate:	\$330
	For Consultant/Analyst:	CV atta	ched Vided within previous		arged (enter %):	3.9%

a. Se se a a compression de la compression della			·		00.000.000.000.000.000.000.000.000.000	Sandbesti	patral visit to to the company of th	ASS 3000	15210 T-000 (A0 Sept. of 160 April 160 A
5	atement c	1000		A ALCOHOLD			and the same and		
	Hours	На	urly Rate		Subtotal		HST		Total
Pre-hearing Conference									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	<del></del>
Technical Conference							,		
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Interrogatories							•		'
Preparation	10.0	\$	330.00	\$	3,300.00	\$	130.02	\$	3,430.02
Responses		5	330.00	\$		\$	-	\$	-
Issues Conference					'	Ť			
Preparation		\$	330.00	\$	-	\$	-	\$	_
Attendance		\$	330.00	\$	-	\$	_	\$	₩
ADR - Settlement Conference				, <del>,</del>		·····		<u> </u>	
Preparation	6.0	\$	330.00	\$	1,980.00	\$	78.01	\$	2,058.01
Attendance	5.0	\$	330.00	5	1,650.00	5	65.01	\$	1,715.01
Proposal Preparation	0.8	\$	330.00	\$	247.50	\$	9.75	\$	257.25
Argument	'			Ť		_			
Preparation		\$	330.00	\$	-	\$		\$	_
Oral Hearing		-		Ĺ					
Preparation		\$	330.00	\$	_	\$	_	\$	_
Attendance		\$	330.00	\$	_	\$	_	\$	_
Other Conferences				<del></del>		<del>-</del>		7	
Preparation		\$	330.00	\$	_	\$	_	\$	
Attendance		\$	330.00	\$		\$	_	\$	
Case Management		\$	170.00	\$		\$		\$	
	Okraejo možejo kada kao skorovej mojski			pyradition.		ror <del>e</del> ugeso		Mario renelias	and the state of t
TOTAL SERVICE PROVIDER FEES				\$	7,177.50	\$	282.79	\$	7,460.29

#### **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	
•	

### **Statement of Costs**

Date	File #
6/16/2017	2017018

Terms	Docket No.
Net 30	EB-2015-0100

Serviced	item	Description	Hours	Rate	Amount
2/7/2017	Interrogatories Preparation		1	330.00	330.00
2/10/2017	Interrogatories Preparation	1	1.25	330.00	412,50
2/13/2017	Interrogatories Preparation		0.75	330.00	
2/16/2017	Interrogatories Preparation	MG-Review	0.72	330.00	247.50
		evidence/notes/interrogatories	3	330.00	1,650.00
2/17/2017	Interrogatories Preparation	MG-Evidence	5	330.00	1 650 00
	,	review/notes/interrogatories	٦	330.00	1,650.00
4/10/2017	ADR Preparation		اد	330.00	4 220 00
4/23/2017	ADR Preparation	MG-Review interrogatory	<u>.</u>	330.00	1,320.00
		responses/develop ADR notes	Ÿ	330.00	1,980.00
4/24/2017	ADR Attendance	8H: Hours reduced to eliminate	2	330.00	660.00
		MG overlap	~	330.00	660.00
4/24/2017	ADR Attendance	MG-Attend ADR (counsel not in	5	330.00	4 660 00
		attendance) 9:30-3:30 with	٦	330,00	1,650.00
	1	adjustment reduction for BH			
		attendance to remove all dual	1		
		attendance		j	
5/9/2017	ADR Proposal Preparation	8H: reveiw draft	4	330.00	220.00
5/9/2017	ADR Proposal Preparation	MG- Review draft ADR agreement	0.75		330.00
		District diangraphy agreement	0.75	330.00	247.50

Subtotal

**HST** on Sales

Project

RideauStL 2016 Rates

HST #10160 6028	\$1,362.08
Total	\$11,839.58

13.00%

10,477.50

1,362.08